
Name:

31 =

Date:

Roman Numerals 301
What is a bow that is impossible to tie? A rainbow.

Convert your numerals (Arabic) to Roman Numerals and vice 
versa.

© www.teachyourchildrenwell.com.au Score:

2 14 = 3 62 = 4 7 =

5 1 = 6 4 = 7 28 = 8 2 =

9 27 = 10 6 = 11 86 = 12 5 =

13 38 = 14 88 = 15 85 = 16 9 =

17 8 = 18 80 = 19 61 = 20 63 =



Name:

31 = III

Date:

Roman Numerals 301
What is a bow that is impossible to tie? A rainbow.

Convert your numerals (Arabic) to Roman Numerals and vice 
versa.

© www.teachyourchildrenwell.com.au Score:

2 14 = XIV 3 62 = LXII 4 7 = VII

5 1 = I 6 4 = IV 7 28 = XXVIII 8 2 = II

9 27 = XXVII 10 6 = VI 11 86 = LXXXVI 12 5 = V

13 38 = XXXVIII 14 88 = LXXXVIII15 85 = LXXXV 16 9 = IX

17 8 = VIII 18 80 = LXXX 19 61 = LXI 20 63 = LXIII


